

CITY OF DAYTONA BEACH

BID TABULATION SHEET

19401: FIRE ALARM MONITORING, TESTING, AND INSPECTION; FIRE SUPRESSION SYSTEM INSPECTION AND MAINTENANCE; BACKFLOW PREVENTER CERTIFICATION; SECURITY SYSTEM INSTALLATION AND MONITORING

Due: JUNE 12, 2019 at 2:00 PM

	Vendors	City, State	Annual Total			
1	Village Key & Alarm, Inc.	St Augustine, FL	\$49,988.00			
2	Dynafire, Inc.	Daytona Beach, FL	\$64,160.00			
3	Cintas Fire Protection	Casselberry, FL	NON-RESPONSIVE			

Bids listed herein are reading results only and received timely as of the closing date and time. All other bids submitted in response to this solicitation, if any, are hereby rejected as late. Any award will be made by the Daytona Beach City Commission.

Cintas did not enter unit prices for every line item.

Opened by: Joanne Flick, Purchasing Agent Witnessed by: Julie Murdock, Office Specialist II

ITB 19401: FIRE ALARM MONITORING, TESTING, AND INSPECTION; FIRE SUPPRESSION SYSTEM INSPECTION AND MAINTENANCE; BACKFLOW PREVENTER CERTIFICATION; SECURITY SYSTEM INSTALLATION AND MONITORING



CITY OF DAYTONA BEACH

BID TABULATION SHEET OPENED: JUNE 12, 2019 AT 2:00 PM

·				Village Ke	y & Alarm	DynaFire		
Item	Location/Description	UOM	X / YR	Unit Price	Annual Total	Unit Price	Annual Total	
	MIDTOWN CULTURAL CENTER							
1	Fire Sprinkler: Quarterly Inspection	EACH	3	150	\$ 450.00	120	\$ 360.00	
2	Fire Sprinkler: Annual Inspection	EACH	1	300	\$ 300.00	300	\$ 300.00	
3	Backflow Test: Annual	EACH	1	25	\$ 25.00	100	\$ 100.00	
4	Fire Alarm: Annual Testing /Inspection	EACH	1	225	\$ 225.00	400	\$ 400.00	
5	Fire Alarm: Monthly Monitoring	EACH	12	20.5	\$ 246.00	50	\$ 600.00	
6	Security Alarm: Monthly Monitoring	EACH	12	14.5	\$ 174.00	30	\$ 360.00	
	FIRE STATION 2							
7	Fire Alarm: Annual Testing /Inspection	EACH	1	55	\$ 55.00	180	\$ 180.00	
8	Fire Alarm: Monthly Monitoring	EACH	12	8	\$ 96.00	50	\$ 600.00	
9	Security Alarm: Monthly Monitoring	EACH	12	8	\$ 96.00	30	\$ 360.00	
	FIRE STATION 4							
10	Fire Alarm: Annual Testing /Inspection	EACH	1	55	\$ 55.00	180	\$ 180.00	
11	Fire Alarm: Monthly Monitoring	EACH	12	20	\$ 240.00	50	\$ 600.00	
	Security Alarm: Monthly Monitoring	EACH	12	8	\$ 96.00	30		
	FIRE STATION 5			1	·			
13	Fire Alarm: Annual Testing /Inspection	EACH	1	55	\$ 55.00	180	\$ 180.00	
	Fire Alarm: Monthly Monitoring	EACH	12	20	\$ 240.00	50	\$ 600.00	
	Security Alarm: Monthly Monitoring	EACH	12	8	\$ 96.00	30		
	FIRE STATION 6			_				
16	Fire Alarm: Annual Testing /Inspection	EACH	1	55	\$ 55.00	180	\$ 180.00	
	Fire Alarm: Monthly Monitoring	EACH	12	20	\$ 240.00	50		
	Security Alarm: Monthly Monitoring	EACH	12	8	\$ 96.00	30		
	FIRE STATION 7							
19	Fire Alarm: Annual Testing /Inspection	EACH	1	100	\$ 100.00	180	\$ 180.00	
	Fire Alarm: Monthly Monitoring	EACH	12	20	\$ 240.00	50	\$ 600.00	
	Security Alarm: Monthly Monitoring	EACH	12	8	\$ 96.00	30		
	DICKERSON CENTER			1	·			
22	Fire Alarm: Annual Testing /Inspection	EACH	1	125	\$ 125.00	250	\$ 250.00	
	Fire Alarm: Monthly Monitoring	EACH	12	20		50		
	Security Alarm: Monthly Monitoring (APS)	EACH	12	14.5		30		
	YVONNE SCARLET GOLDEN CENTER							
25	Fire Sprinkler: Quarterly Inspection	EACH	3	150	\$ 450.00	120	\$ 360.00	
	Fire Sprinkler: Annual Inspection	EACH	1	300		300		
	Backflow Test: Annual	EACH	1	25		100		
	Fire Alarm: Annual Testing /Inspection	EACH	1	150		350		
	Fire Alarm: Monthly Monitoring	EACH	12	23		50		
	Security Alarm: Monthly Monitoring	EACH	12	14.5		30		
	HALIFAX PLAZA							
31	Fire Sprinkler: Quarterly Inspection	EACH	3	150	\$ 450.00	120	\$ 360.00	
	Fire Sprinkler: Annual Inspection	EACH	1	300		300		
	Backflow Test: Annual	EACH	2	25		100		

				Village Ke	y & Alarm	DynaFire		
Item	Location/Description	UOM	X / YR	Unit Price	Annual Total	Unit Price	An	nual Total
34	Fire Alarm: Annual Testing /Inspection	EACH	1	225	\$ 225.00	500	\$	500.00
35	Fire Alarm: Monthly Monitoring	EACH	12	23	\$ 276.00	50	\$	600.00
36	Security Alarm: Monthly Monitoring	EACH	12	14.5	\$ 174.00	30	\$	360.00
	CITY HALL							
37	Fire Sprinkler: Quarterly Inspection (IT)	EACH	3	150	\$ 450.00	120	\$	360.00
38	Fire Sprinkler: Annual Inspection	EACH	1	300	\$ 300.00	350	\$	350.00
39	Backflow Test: Annual	EACH	1	25	\$ 25.00	100	\$	100.00
40	Fire Alarm: Annual Testing /Inspection	EACH	1	275	\$ 275.00	750	\$	750.00
41	Fire Alarm: Monthly Monitoring	EACH	12	20.5	\$ 246.00	50	\$	600.00
42	Security Alarm: Monthly Monitoring	EACH	12	14.5	\$ 174.00	30	\$	360.00
	JOSIE ROGERS HOUSE							
43	Fire Sprinkler: Quarterly Inspection	EACH	3	150	\$ 450.00	100	\$	300.00
44	Fire Sprinkler: Annual Inspection	EACH	1	300	\$ 300.00	150	\$	150.00
45	Backflow Test: Annual	EACH	1	25	\$ 25.00	100	\$	100.00
46	Fire Alarm: Annual Testing /Inspection	EACH	1	75	\$ 75.00	180	\$	180.00
47	Fire Alarm: Monthly Monitoring	EACH	12	20.5	\$ 246.00	50	\$	600.00
	ARCHIVES							
48	Fire Sprinkler: Quarterly Inspection	EACH	3	150	\$ 450.00	100	\$	300.00
49	Fire Sprinkler: Annual Inspection	EACH	1	300	\$ 300.00	150	\$	150.00
50	Backflow Test: Annual	EACH	1	25	\$ 25.00	100	\$	100.00
51	Fire Alarm: Annual Testing /Inspection	EACH	1	75	\$ 75.00	180	\$	180.00
	Fire Alarm: Monthly Monitoring	EACH	12	30	\$ 360.00	50	\$	600.00
53	Security Alarm: Monthly Monitoring	EACH	12	14.5	\$ 174.00	30	\$	360.00
	PEABODY AUDITORIUM							
54	Fire Sprinkler: Quarterly Inspection	EACH	3	150	\$ 450.00	120	\$	360.00
55	Fire Sprinkler: Annual Inspection	EACH	1	300	\$ 300.00	280	\$	280.00
	Backflow Test: Annual	EACH	1	25	\$ 25.00	100	\$	100.00
	Fire Alarm: Annual Testing /Inspection	EACH	1	125		300		300.00
	Fire Alarm: Monthly Monitoring	EACH	12	23	\$ 276.00	50		600.00
	Security Alarm: Monthly Monitoring	EACH	12	14.5	-	30		360.00
	POLICE DEPARTMENT						,	
60	Fire Sprinkler: Quarterly Inspection	EACH	3	150	\$ 450.00	200	\$	600.00
	Fire Sprinkler: Annual Inspection	EACH	1	500	\$ 500.00	550		550.00
	Backflow Test: Annual	EACH	1	25		100		100.00
	Fire Suppression: Inspection Annual (Dry System)	EACH	1	250	\$ 250.00	400	\$	400.00
	Fire Suppression: Semi-Annual (Dry System)	EACH	1	150	\$ 150.00	400		400.00
	Fire Alarm: Annual Testing /Inspection	EACH	1	250	-	700		700.00
	Fire Alarm: Monthly Monitoring	EACH	12	20.5	\$ 246.00	50	\$	600.00
	Security Alarm: Monthly Monitoring	EACH	12	12.5	\$ 150.00	30		360.00
0.1	A: TOTAL SERVICES BY LOC				\$ 13,986.00			24,670.00
	FIRE ALARM MONITORING INSTALLATION/PROGRAMMIN							
68	One time Installation and Programming Fee for upgrading fire alarm monitoring system with a wireless unit pre-approved by the project manager	EACH	14	200	\$ 2,800.00	0	\$	
69	Reprogramming fee (after initial setup)	EACH	2	5	\$ 10.00		\$	

ITB 19401: FIRE ALARM MONITORING, TESTING, AND INSPECTION; FIRE SUPPRESSION SYSTEM INSPECTION AND MAINTENANCE; BACKFLOW PREVENTER CERTIFICATION; SECURITY SYSTEM INSTALLATION AND MONITORING

				Village Ke	Dyn	DynaFire		
Item	Location/Description	UOM	X / YR	Unit Price	Annual Total	Unit Price		Annual Total
	SECURITY SYSTEM INSTALLATION/PROGRAMMING							
70	Installation of future security systems will be done by quoting each individual location using the labor rates below							
-	Monthly security monitoring for future installations. (14 Locations X 12 months)	EACH	168	24	\$ 4,032.0	0 30	\$	5,040.00
72	Reprogramming fee (after initial setup)	EACH	2	5	\$ 10.0	0 0	\$	-
	MAINTENANCE AND REPAIRS							
73	Regular Rate (M-F 8-5)	HOUR	250	80	\$ 20,000.0	0 90	\$	22,500.00
74	Overtime Rate (M-F 5:01-7:59) & Saturdays	HOUR	50	95	\$ 4,750.0	0 135	\$	6,750.00
75	Sunday & City Observed Holiday Rate	HOUR	20	95	\$ 1,900.0	0 135	\$	2,700.00
	PARTS/MATERIALS							
76	Parts/Materials furnished_by the Contractor under this Contract will be at the Contractor's actual cost plus percent (LOT	2500	25%	\$ 2,500.0	0 -10%	\$	2,500.00
B. IN	B. INSTALLATION/PROGRAMMING/MAINTENANCE/REPAIR/PARTS				\$ 36,002.0	0	\$	39,490.00
	ESTIMATED ANNUAL TOTAL FOR ALL SERVICES (A + B)		\$	49,988.0	0 \$		64,160.00	

Bids listed herein are only reading results received timely as of the closing date and time. All other bids submitted in response to this solicitation, if any, are hereby rejected as late. Awards can only be made by the Daytona Beach City Commission or the City Manager.

Cintas is found non-repsonsive -they submitted an incomplete bid when they didn't enter unit prices for all line items

Opened by: Kirk Zimmerman, Buyer

Witnessed by: Julie Murdock, Office Specialist II